Sr

10

Questions

Question Image

Question Image

Question Image

Question Image

S I S aal JL 15 (i ol gl 9 (e Site 2 st (I SBen 12 (e e S S 2ea)
=S by (S A,

(S5 3223 S 55 250 Jassl 55l 600 ~e sanae S Ll (K 53 S

dé‘“"*é?}x’“:‘ ...... -Lu_g‘é;l.)&\.

Ss 30ax8 (S U i 55 400 ol IS (S G KD s 80 e dang) (S s i,

S0 owidag) 03 S Juals (e O3ane 0 S Gl oS Jealas 520 350 e (pelime Uy i aales

8 e s € (sl 29 Jangl (S (M,

Answers Choice

A oK

oS
SN\
DY

BN

B N|]
sV
oV

30
40
50
60

10
20
30
40

8
9
12
15

12
10
5

15

DOW> DO®P DOWP UOWP D0UP» UOW

Al anl s daad (S AL S e sene SL
=5
B.@éwn-\mié\-,ﬂ“ts&ﬁéﬂé&\-)ﬁ‘
= 2K

C. walaxd S aldl S ae gene S L
o SRS ea

D. Gl o 35 (S L) S e sana S L
= 2K

= 00 O Ul
o

- © O 0
N oo 1o

ODOW> DOWP DO
(o]

~ = ©



